SEBA Board Class 10 Maths Question Paper 2019

Total No. of Printed Pages—19

Subject Code : C2

B19-GM
( EN/AS/BN/BD/HN )

2019
‘GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours
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viz., in English/ Assamese/ Bengali/ Bodo/ Hindi medium,
for their ready reference. In case of any discrepancy or
confusion in the medium/ version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.

Take nt = -273, wherever necessary.

ammwﬁn=¥'«a’m

/21 [ Contd.



( 38)
(2)

() The pair in (i) is inconsistent, whereas the pair in (i) is
SECTION—A / 3wy / 3N | S—aEm [ H—wsm consistent. 4 ‘ percas the pair in (i is
Choose the correct answer : (d) The pair in (i) is consistent, where
% TE0! Tk S ; ) inconsistent.
% YD Rer e : oo LA SRR TR R 4 :
ﬂiﬁﬂ?ﬂ@m"ﬂ% : {
mmiﬁ!:

) Bx+2y=5 2x+3y=5

(ll) 2x_3y=7', 2x—3y=8
1. Which one of the foll

ing i terminating repeating s e AR SR /
- atin
decimaty owing is a non-terminating rep: . (@) ()T (i) T CTRCIECIR RIS |
T @R R e i 2 ‘ b) ()OI (i) 3 TR RIS |
Rare R feaft e mife? ‘ (©) (i)3 CORCD SPReTS, g (i) 3 GIIRCH! SRS |
TR A SRy, SR (d) ()3 et oS, R (i) I @R PRI |
ﬁwmaﬁém-mmaﬁ?ﬁmm%? e e AREeR e Rewn
3 7 64 124 () 3x+2y=5; 2x+3y=5
@ 3 ® 2% © 255 @ =5 ) 23y =7 20-3y 38
2. The product of the zeros of ¥2-15 is 1 % R @R e | o
153 "R e (@ (i) 99 (i) CTOIER K
xx: o . Wﬁ (b) (i) SR (ii)-99 TSI SR |
—15-mm1w; - '“ m; () (i) corei’ seiers, R (ii)-<a7 coefs kTS 1 -
< 1R e . @) () e Ao, R (i cwro PR |
*2 -15 % w1 EwE 3 N N g
@ s w1 @ Vis @ -is i) 3x+2y=5; 2x+3y=5
3. Consider the following pairs of linear equations : () 2x-3y=7,2x-3y=8
() 3x+2y=52x+3y=5 T e T R
(u) 2X—3y=7; 2x—3y=8

(@) (i)W (i) ST e
1 (b) ()3 (i) T T @
© @)F < arenfy, wem ) R T e
(d) (@)F T e, T () T 5T e

Choose the correct alternative.
(a) The pairs in (i) and (ii) are consistent.

(b) The pairs in (i) and (i) are inconsistent.

GM/21B [ Contd.
19-
B,19-GM/213 [ Contd. ' B



(%)

(5)
ﬁqmw%w“ﬁmm‘“ 6. The distance between the points (0, 0) and (-8, 6) is
() 3x+2y=s, 2x+3y=5 (0, 0) ¥ (-8, G)ﬁ’i‘ﬁﬁw‘fﬁ‘"‘

) 2x-3y=7, 2x-3y=8 (0, 0) @ (-8, G)ﬁ"i‘im'ﬂm‘ﬁ‘im

¥ frere g (0, 0) 31 (-8, 6) Y TR e TeTTEa T

(@ (i) 3 (i) 3% g w4 A g3t (0, 0) M (-8, ) A A g R

®) i) A (ii) At gm s & @ 10 () 8 © 6 @ 2
(c) rimgwmam(ﬁmwmm

. ing is true?
CANUVAS CE R P 7. Which of the following is true

(a) The value of tan A is always less than 1.
4. The 30th te f th 10, i
LC e AP 0,T, 4, ° ! (b) The value of cotA is always greater than 1.
10, 7, 4, ... SWmA =RBR 30y T TR
10, 7, 4, ... e 2oRfa 30w o 2gen () sin®=3 for some angle 6.
10, 7, 4, ... wrgfr Shmify 30 fagman smam @) soce=% for some angle 6.
10, 7, 4, ... @ 4 = 30aT w SN
(@) -67 b) -77 c) -87 d) -97 : .
@ @ fa) tan A3 9 TR 19T ¥ |
S. Let ABC be a triangle such that AB=6V3 cm, AC=12 cm

and BC =6 cm. Angle B is

1 (b) cot AR VA W 1HS3 T |
ABC {3’ AB =63 cm,

AC =12 cm ¥ BC =6 cm. B G318

(c) mmqe‘imsin():%.
A (@) TN G 03 WA sech =12
ABC {3t AB =63 cm, AC =12 cm ¢R BC =6 cm. B 1
R s @m e 2
ABC JraifRemi AB =6V3 cm, AC =12 cm 3m BC =6 cm. (@) tan A-93 TF S 1 (T (T |
e (b) cot A-a3 IR W& 1 (YT I |
ABC e % AB=6V3cem, AC=12 cm ¥ BC=6cm 3, s
@ FW B F AW M ‘ (c) PN 1 8- & sinb =3 .
fa) 120° ) 90° () 60° (@ as° (@ PN 1 -8 o sech=12.
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{6) (7))

R A da? 9. A circle can have ___ parallel m;i:xi;z ;“ the most. 1
Pl w @fk ____ T TeAE =pfd
(@) tan AR 7w st 1 P R qu:m@@ﬁ 5 g =>p{F ARRCS A |
(b) cot AR wm srwmRl 1 Fregg I R e iR @ R ifre TG 9 B |
; 5 #
(c) Wﬁm@'meﬁwmsin0=§- Wfﬁﬁmﬁm—-mmﬁm o 4
@ mEoh o2 @ 1 (b) 2 (0 3 (d)
FOH wm e - 10. The degree measure of the angle at the centre of a circle is 1. .
et # 3 A-w w47 The area of the sector is
] R 1, @GR F11 24
(@) tan AF TF ¥ 1 AT AR WWMT;:@WI e
T @ (I , oyt
(b) cot AW WA A 1 A wg BRI R

e fream i e @R R w'Em 1, @R e e

() Freh =m0 % R sin@ = 3 fr &1 w79 % 3% F Fw W an 1 el §, @ e fews w1 dewa dm

2 nr? nr? @ ﬁ
(d) Maﬁwa%msmh%ﬁm%l @ mr ®) = (© 5 5
where r is the radius of the circle.
[ 'S r 3’4 JEOR AP |
8. The angle of elevation of the top of a tower from a point on wr

the ground, which is 15 m away from the foot of the tower,
is 60°. The height of the tower is

b1 T R °A1 15 m Hieqs gfirs &1 <51 R R1 BER M T

QTR 20 3304 AP |
WA r 3 TEE SEAE @ E@E|

e r3afl = R

@19 60° 274 T Twel 7]

mmwﬂ%ﬁcm 15 mmmwwﬁﬁzcwmm 11. The volume of a sphere is 2887n cm3. The radius of the
T (1 60° ZA T TH9 T sphere is 1
T ARl R PR 15 m aHamaE T aee A AR B (TR WA 288 1 cm . (IFIROR APTY =

T TR 60° ez sharen s @ (STPIER e 288 m cmS. (TR AP TN
ol % G g & MR S TR R 15 moq R, dew ¥ R = . 2887 cmd. P
F0 60° 2| AR A S v TR T 288 1 cm®. TR
ot e = e 288 1 cm R e $ B }
fa) 2 cm (b) 4 cm (c) 6cm d 8 cm

@ 15m ®) 1593m (g %m @ 30V3m
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12,

13.

14.

The probability of an impossible event is
1 TR T SR T

<5 PTER B STl el

A SNy et s S

ST T F) iR A &

(@ O (b) 025 (¢ o5 @ 1

SECTION—B / ¥—Ml / %Yl / @—argmit |/ @—wm

Find the HCF of 96 and 404 by the prime factorization method.
Hence, find their LCM.

R TemPTAT AR 96 TF 4043 o, . 8, TRIeH | WA AT
PrEea 71, 1. @. Shied |

QPR TMPFT &S W 96 R 404-9F 9. M. 8. @R FA |
9 (UCF TR A N, Q. @@ AN

T wremr e et 96 oM 404 f 2. an. WL Rgt) A
FWRA 3. 3. @, Rg

anea PrEe Bt T 96 it 404 w1 HCF wm #ifm sk fiR e
LCM v Hifsr)

Half the perimeter of a rectangular garden, whose length is

4 m more than its width, is 36 m. Find the dimensions of
the garden.

Q¥ THORH MR oFOF W 4 m @R | WR ARFITR W4 36 m.
¥ T, e fRefy 3 )

G SRS IR 27 (T 0 4 m @ | 97 *RNTW 4@ 36 m.
EBR 076, o P e
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{9 )

AR et fReR A Tiemeen awfigs 4 m iR 3R ARl fRmf
g 36 m. R TRF e Ry qawd g

ww AR 4, R wad, ded ¥ 4 m AR ¥, = andeRom
36 m B am H # W Ay

The 11th term of an AP is 38 and the 16th term is 73. Find the
common difference.

b1 AR 2Aof¥A 119 MCH 38 W 168N B 73, AR W ey
4

a3 A A5EA 1134 oWl 38 Wy 1699 Wb 73. MR @A fefy
@

o wEgl SRR 11 R faemn 38 ey 16 1 faemn 73, iR
wrmTte faga |

et w3 #1111 © 38  qw 1631 & 73 B, @ @ WE IR
(common difference) a1 gm?

Find the point on the x-axis which is equidistant from
(2, -5) and (-2, 9).

(2, -5) W (-2, 9) Ry PR A FTTALS x-TW 9[4S 41 Ry ey
401

(2, -5) & (-2, 9) Ry b CoaeF TWGFCT x-WCWA TowA w1 RS ey
FA

(2, -5) 3M (-2, 9) o AP T FHAEEE xR TR T
o e R

x-38 W T forg 7@ PR A (2, -5) 3k (-2, 9) A TEEE
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17.

18.

19.

20.

(10 )

IfsinA= %, calculate cosA and cot A, (4 is an acute angle)

ﬂﬁsinA:%, cos A O% cot A il 347 | (A by spETRI)
M sinA = %, cos A a cot A P Tz 1 (A a3 pETRI)
%R sin A =%, cos A ¥ cot AW R | (4 o vy @' ')

M sinA=2 |, W cosA A cota = wheRmm PR (A
= §)

Evaluate/aR ffa 341/9m fefa 3a1/9m foga/am freferg :
8in 30°+ tan 45°- cosec 60°
sec30°+co860°+ cot45°

If tan2A =cot(A-18°), where 24 is an acute angle, find the
value of A

M tan2A = cot(A - 18°), A3 T iy =41 1 24 BT PRI |

T tan2A = cot(A - 18°), A-F T fefy 3T | 24 3 PRI |

R tan24 = cot (4 - 18°), Ay 7M g1 24 an dHd @A @'

IR tan 24 = cot (A - 18°), 781 2A TF <FEM %, A A F1 W yA A
Prove that/2 141 341 (¥/2@19 I @ /HHH @M R /Rrg, Hifvre f5

cosA . 1+sinA
1+sinA cosA

=2secA

A is an acute angle.
A 0 PR |
A G35 SR |
A 3 AFR @ @

A TH T R
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23.
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A bag contains 3 red balls and 5 black balls. A ball is drawn

at random from the bag. What is the probability that the ball
drawn is (a) red and (b) not red?

@7 @RS 351 36 AR 5B e AEd T B | @FIFR A G 3
TfEFER 5711 29 | B 300 () 381 464 ZRRA AF (b) 391 357 (IR
a7 -

@ ofre 3% T @k B e wen @ e B (@ @B =
A B A | B 3 (o) e 9% ZEWR WRe (b) AR Fe A ZEIR
e 77

M FeTEE G 3 T A AR B 5 A a9 38| JTHEeE aRe A
4@ a FEAE | (@) TN TER FEEm A (b) e Taf nfafy s
it

ww da i 3 T 5w R w4 A w TRk agee e
i ¥ | v Wit 70 R R (o) e @ o (p) @ T @Y

SECTION—C / >4l / s—¥ / T—aTgrn [/ T—wm

Prove that V2 is irrational. 3
21 T4 @ N 2 Ao |

21 FCA QAN 2 FoARAT |

BRAH @e™ R V2 @ e

g i 6 V2 v st e t1

Divide the polynomial p(x) by the polynomial g(x), and find

the quotient and the remainder : 3
P(xX) T2 g(x) ILPHOIA 9 341, A% S1ora W ST Py = :

Plx) I g(x) T2 AR S ICAN, G} TR 8 S0 et A
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26.

{ 12 )

Pplx) o Traig g(x) fremm st W R T 3 T R :
TR p(x) W q(x) A Ay R T T St A ;
plx)=x3 -3x2 +5x-3, q(x)= x2 -2

If we add 1 to the numerator and subtract 1 from the
denominator, a fraction reduces to 1. It becomes % if we only
add 1 to the denominator. What is the fraction?
o W RS 1 et A W TR 1 Remer 3, o Seven e 1
=it o s TR 1 mwﬂ.mimﬂ%JMﬁ?

S AR 1 AR R R S 1 R IR, @ s 7w 1 )
mnﬁnimlmﬂvﬁ,mmmélsma7

IR A Tt 1@ TR I TREE 1 e, B daEEs
1 3™ W S YR T 1@2@miﬁw%|im
@ m?

REmmd | WIMEAA 1@ 3, A 1§ wea o 2R w
FR WA 1m§,ﬁn%ﬂwtlnﬁamt?

Solve />R 3 /A I /Aagurs Rg /et e 3

V2x? +7x+5V2=0

The difference of squares of two natural numbers is 180.
The square of the smaller number is 8 times the larger number.
Find the two numbers.

71 TR AR T R 180, 5% SHORGA 3 TABA 8 59 2°7H,
e o fefn =4

b TR Tm ot R 180, cab by 39 T3BA 8 %9 WA,
S 5 Refa =@

A sEfi TieRR Sm 180, gEim sRReNfA i XRm R
8 W il | srfen A R

@ WIFE FEmsd F T H W 180 ¥1 IR v T 7@ wwwm | 8
T 1 3 wed 3 fifg)
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28.

29.
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In what ratio does the point (-4, 6) divige the line segment
joining the points A(-6,10) and B (3, - 8) internally?
A(-6,10) T B(3, -8) Ryl crree® (-4, 6) Fr R wpree
wgfisE A ?

A(-6,10) & B(3, -8) Ry 7wl crmor® (-4, 6) frg B wPpme
wgfeE A ?
M_f,,lo)maB(3.-8)ﬁ£tﬁnammwsi®u\z‘m(-4,6)ﬁz\mm
T W7

farg (-4, 6), faget A(-6,10 3R B(3, -8) R I T Y@ F A
= A fra s 3 fnnfa w47

Find the sum of the first 22 terms of an AP whose common
difference is 7 and the 22nd term is 149.

B AT 2SR AT TG 7 W 229W W0 149 T TR 24ed 228
o cavsrre faefu 3 )

& SR wsfE TR WE T @R 2299 *Fb 149 A @7 a4q 22f
ozqa cns faefy 3

A et iR SReRen 7 s 22f fern 149 SwiE
af fifa 22 feraf T RE

T WA AE F wuR 22 W ® WM 3 P e wd am 7 ¥ s
22al = 149 %1

In an equilateral triangle, prove that three times the square
of one side is equal to four times the square of one of its
altitudes.

o 1 @ B T g o R 3 et TR o TR R
SRBR ¥R |

o T @ R TRE A W@ T Wk et ow @i Tak
W TRGTR A= |
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Ll (15 )

T W R A o AR SR A e i 4 cm ¥ TR T T H T M 1 om B @ 79 7 -
Wm%ﬁﬁ%ﬁmﬁmﬁiﬁnﬁmm,

e T ¥ 9 e 2 mwmmqagasﬁmnu;gem%ﬁm
P s g 4, o i 6 3wt & Euey |- 3 gt e &1 3 A v e A (= 2 ) ¢
Mhdaw Tt b F At

30. Find the value of K if the Points (8, 1), (K,-4), (2,-5) are
collinear.

.1, (K, =), (2, - 5) R RED 038 2ot k¢ 3 ety 1
® 1), (K, ~4), (2, - 5) Ry oAb woeain oot K- w1 ety e |
81, (X, -4), (z—ﬂﬁaﬁaw%zi@wmmxﬁmﬁgm
Ko wm i R Regd 8, 1), (K, -4), (2, - 5wt 1

SECTION—D / ¥—>INl / %—[ / 9—aTgnit [ W—ww

31. From each corner of a square of side 4 cm, a quadrant of
a circle of radius 1 cm is cut and also a circle of diameter 2 cm
is cut as shown in the figure below. Find the area of the

22 TR FARTEAR (AR HNAREA 961 IR TR 41 ©
remaining portion of the square (Take m==5 : .

! e SRR CaTel (AR FRAIC Mo I S ICA -
wﬁm@jmm4cmwmamm;§«°mlcm s . oy o
TP 01 &9 1 o I Y o, W 2 cm IPR 961 a6 FM TreTafy WA S T ST AT T R A
mmmmwwmﬁ@ﬁ(n=giﬁnﬁﬁ): P @it g 1 e Wi % T § wee g HN ;

32. Solve the pair of equations by reducing them to a pair of linear .
equations :

1
A Bea o A 4 om T @B WewE 2B @ 1 om x—s_i+y_2=2
w«aﬁmmmmﬁﬁwmmzcmm
¥ T@e @ Fem TR | irwady R wom I At T il-if
1 (n=272ar-wm): x-1y
|

eR wEmiEE RftEm TR 4 cm IERR WA Tl @'

33. ABCD is a trapezium with AB||DC. E and F are points on
i AT 1 cm ¥EER AR da e T S SR 2 om

non-parallel sides AD and BC respectively such that EF is
LRI R i T RS S—e =iy g parallel to AB. Show that
Z AE _EF
(n= = B W) 45 _sr
1
| B19-GM/21B
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34.

( 16 )

ABCDch‘;:wmABch.m%mmAuwsca SRS G
ES® F AR G B g
phafd g EF W% AB & | crysq @
ED FC
ABCD GPfemes AB||pC. @ SPRIGAE A AD BC-@7 ¥r
mEmFﬁﬁgWﬂwmmmwABW|
s @ AE _ BF

ED FC’
ABCD?ﬁhwﬁABch.iﬁ
TRY B SR P R dare
Ry AE _ BF

Mmmﬁwm BCH arm
mmmmmumm|

ABCD w e ¥ Rt AB||DC %

SR W19 AD 3R BC w
m:ﬁgEﬁkamﬁaiﬁﬁEFwAB%milmﬁ
AE _BF

—==1
ED FC%

A 1'5 m tall boy is standing at some distance from a 30 m tall
building. The angle of elevation from his eyes to the top of the
building increases from 30°

to 60° as he walks towards the
building. Find the distance

1'5 m 791 @36 =emt 30 m e G (A g ey W W |
mw@ﬁmmc&%mmmmmmcmwm%
B @19 30° (e 60°®mm|mwmﬁwmﬁ'@c€<%m@mm
efey <z )

1-5 m it ¥R amamn 30 m A R RRREE @ e e 2
ﬁrﬁﬁmﬁmuﬁ‘lﬁﬁﬁrﬁiﬁhwaﬁna'wﬁ%ﬁmmwahmﬁsw
ﬁ;:méoﬁwmmlﬁw\ﬁfaﬁmmmmm@ﬁgm

B19-GM/21B
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he walked towards the building. 4

(a7 )

1'5 m Wa T @§H 30 m 3N o v A T 3P W we A T
ﬁmﬁsﬁ!m%mmmam%ﬂmmwmav
%60°€tm%|mmf*nmﬁamﬁm=ﬁ{ﬁmmwm

35. Prove that the tangents drawn at the ends of a diameter of
a circle are parallel.

o1 1 (1 TR TP T 51 ~pofgs syt |
2 FCAN U FCR A W B wpefs STavgamen |

HIAH @ R Fef @ gy st @ S i T R
S|

ﬁﬁ%%%@ﬁqa%ﬁxﬂm%ﬁﬁmﬁ’ﬁwﬂ&@im
ikl

36. Construct a triangle of sides 4 cm, 5 cm and 6 cm, and t}?en
a triangle similar to it whose sides are % of the corresponding

sides of the first triangle. (Write the steps of construction.)
4 cm, 5 cm W® 6 cm W I fIgE TFW W wF ©R Pres TR

T S 1 g e 1 I IR 24w RAPSOR St I
2 @171 (AT AR PR )

4 cm, 5 cm 9R 6 cmmdﬁﬁﬁﬁﬁwm WW?«W‘T‘I
aﬁﬁy&mmmmﬂﬁmﬁmﬂwﬂmmgmmu
(orseTa ~Rfmafe frea 1)

IR 6 cm AR AR FERYE Afe o AR T
e S a1 e v s e sy 46 s
R ARt 2w S (e s )

.5 cm ok 6 i o T Pge 1 T i s B T
:g;::ﬁwﬁc;wwﬁﬁu.mmﬁ!mﬁﬁﬁww
# 27 ) (v 3 ot B fifew)
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SECTION—E / &1 / S~ / z—amgmt / s

37. A toy is in the form of a cone of radius 3-5 cm mounted on

a hemisphere of same radius. The total height of the toy is
15'5 cm. Find the total surface area of th =22
e toy. (Take 1t 7 )

D] [T T JPIT 1 REPRR @or
MBS | MR P W A 155

(n =22 o )

35 cm IPYE BT G
cm. AR T - ffy 31

R CF R IS R AT T 35 cm AP @
g T RS | CEItE @B el e 155 cm. CEAIA @M% o
ﬁﬂml(n=272mm)

@m@ummmmm% cm W'EE T T
St A gaen® mé e s 155 cm. Faefy T fag
mmﬁg.(n=§mw

et B 35 cm TR @ W% ¥ s @ 3, 3 o B A
iR | AR ¥) w Rl 1 G S 155 om 21w R =

ﬁ@wmmﬂﬁw(w%eﬁﬁq)

38.

(19 )

6 cm, 8 cm X 10 cm Wppg tof agr R M B T
(o TR A X | T oty qond Bl 31 1 ik g (e

e 1 (5= oy

6 cm, 8 cm 3 10 cm W simam g g R G e
T T G T TR ) R gy v aEe R dvia Tiem gf
ﬁgmﬁﬁ?‘(n=27zmm)

Fm: 6 cm, 8 cm A 10 e Hr=med T wg F A S e
7 foETR T 751 3 TN W 31 @ A A B fen 3w S

w73 3 T F 7R fa%a o ym Hifav) (n=¥?ﬁﬁ!)

The marks distribution of 30 students in a mathematics
examination are given below. Find the mode of this data :

zm TEeTe 30 95 ORk AR sz o wR fa mR ) & TR
e D =41

Tz ThAem 30 B° Wi o Rm Mg TR em TR | & TR
e ey

Tl FEEE @ 30 FRER AFARAE GREaE THAE e
FEE A | A TR e R
30 famféad zm o 4 wh & ww B ™ A AR oy e 1w RrnfE

- T -
Or / 31 / 5o / @& / [ Class interval | 10-25 [ 2540 40-55 | 55-70 | 70-85 |85-100
| =T = |
Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively i =5 =g l
are melted to form a single solid sphere. Find the radius of the l 973t F=E ’
resulting sphere. Also find the surface area of the new sphere. 7 FaTE | |
ﬂ‘akgn:g_z.) E_No.ofstudents‘ 2 ‘1 3 7 1 6 ‘ 6 6
7 | o7z ey ‘ ‘ | l
6 cm, 8 cm TF 10 cm WA B! MgA TR B B T | oz \ 1 \
TR W A T OWRGA e R W) A TR (RA w,Wfﬁ:;ﬁm ‘ '. |
= - | Frenféat %1 = |
TR Bl T 1 (= 22 o o) !
7 £ 2 2 3
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